Grade 8 Sample Questions for Review
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Find [image: image1.png]Jasxas



.

	a.
	25
	b.
	5
	c.
	625
	d.
	156.25


____
2.
Find the approximate side length of a square with area 27 cm2. 

Give your answer to 1 decimal place.

	a.
	13.5 cm
	b.
	6.8 cm
	c.
	5.2 cm
	d.
	3.7 cm


____
3.
Find this product. [image: image2.png]



	a.
	–13
	b.
	–17
	c.
	–15
	d.
	+25


____
4.
Find this quotient. [image: image3.png]



	a.
	–63
	b.
	–10
	c.
	+10
	d.
	+63


____
5.
Divide. [image: image4.png]40




	a.
	+30
	b.
	+4
	c.
	+50
	d.
	–4


____
6.
Multiply. [image: image5.png]1
x5




	a.
	[image: image6.emf]5

4


	b.
	[image: image7.png]



	c.
	[image: image8.emf]1


	d.
	[image: image9.emf]17

4




____
7.
How many sectors in this circle should be shaded to represent [image: image10.png]


?

[image: image11.emf]
	a.
	11
	b.
	2
	c.
	3
	d.
	1


____
8.
Divide. [image: image12.png]



	a.
	[image: image13.emf]4

5


	b.
	[image: image14.emf]6

3

10


	c.
	[image: image15.emf]4

3

8


	d.
	[image: image16.emf]8

35




____
9.
Jake wants to draw a net of a hexagonal pyramid. He has drawn 1 hexagon and 1 triangle.

What other shapes does he have to draw?

	a.
	1 triangle and 5 hexagons
	c.
	5 triangles

	b.
	2 hexagons
	d.
	1 hexagon and 6 triangles


____
10.
Which diagram CANNOT be folded to make a cube?

	a.
	[image: image17.emf]
	b.
	[image: image18.emf]
	c.
	[image: image19.emf]
	d.
	[image: image20.emf]


____
11.
Find the surface area of this right rectangular prism.

[image: image21.emf]7 cm

4 cm

10 cm


	a.
	138 cm2
	b.
	21 cm2
	c.
	280 cm2
	d.
	276 cm2


____
12.
Calculate the area of the 2 triangular faces of this right triangular prism.

[image: image22.emf]13 cm

6 cm

8 cm


	a.
	24 cm2
	b.
	48 cm2
	c.
	39 cm2
	d.
	96 cm2


____
13.
A square prism is 12 cm tall. The side length of the square base is 5 cm. 

What is the volume of the prism?

	a.
	88 cm3
	b.
	300 cm3
	c.
	85 cm3
	d.
	240 cm3


____
14.
Find the volume of this triangular prism.

[image: image23.emf]4 cm

6 cm

9 cm

7.2 cm


	a.
	108 cm3  
	b.
	216 cm3  
	c.
	178.8 cm3  
	d.
	89.4 cm3  


____
15.
Find the volume of this triangular prism.

[image: image24.emf]5 cm

18 cm

5 cm


	a.
	342 cm3
	b.
	450 cm3
	c.
	225 cm3
	d.
	900 cm3


____
16.
The volume of this triangular prism is 78 cm3. Find the value of h.

[image: image25.emf]4 cm

h

13 cm


	a.
	6 cm  
	b.
	3 cm  
	c.
	4.6 cm  
	d.
	6 cm  


____
17.
Find the surface area of this cylinder. Leave [image: image26.png]


 in your answer.
[image: image27.emf]18 cm

8 cm


	a.
	[image: image28.png]7921



 cm2
	b.
	[image: image29.png]9367



 cm2
	c.
	[image: image30.png]3067



 cm2
	d.
	[image: image31.png]4507



 cm2


____
18.
A cylinder has radius 11 mm and height 30 mm. What is the surface area of the cylinder? 

Leave [image: image32.png]


 in your answer.

	a.
	[image: image33.png]9431



 mm2
	b.
	[image: image34.png]8721



 mm2
	c.
	[image: image35.png]2911



 mm2
	d.
	[image: image36.png]a02m



 mm2


____
19.
Find 0.4% of 190.

	a.
	4.75
	b.
	0.76
	c.
	0.076
	d.
	19.04


____
20.
Find 400% of 8.

	a.
	32
	b.
	29
	c.
	35
	d.
	27


____
21.
Solve this equation. 3x + 11 = 23

	a.
	9
	b.
	4
	c.
	11
	d.
	4


____
22.
Solve this equation: [image: image37.png]



	a.
	–[image: image38.emf]3


	b.
	[image: image39.emf]5


	c.
	[image: image40.emf]9

5


	d.
	20


____
23.
Solve this equation: [image: image41.png]4+ 2(x+5)=10




	a.
	[image: image42.emf]

10

3


	b.
	–2
	c.
	[image: image43.emf]1

2


	d.
	–4



____
24.
Which type of graph is most suitable for showing the depth of water in a pond over a period of time?

	a.
	[image: image44.emf]0
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	c.
	[image: image45.emf]0
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	b.
	[image: image46.emf]0
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	d.
	[image: image47.emf]A
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D




____
25.
Raji recorded the colour of each car entering the school parking lot. 

To make statements about car colours, which type of graph would be appropriate to display the data?

	a.
	Circle graph
	b.
	Line graph
	c.
	Bar graph
	d.
	Scatter plot


____
26.
A coin is tossed and a regular 6-sided die labelled 1 to 6 is rolled. 

What is the probability of tossing a head and rolling a 5?

	a.
	[image: image48.png]



	b.
	[image: image49.png]



	c.
	[image: image50.png]



	d.
	[image: image51.png]





____
27.
Triangle B is the image of Triangle A after a reflection in a vertical line through the point (6, 0).

Which diagram shows the correct position of Triangle B?

	a.
	[image: image52.emf]Horizontal axis
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	c.
	[image: image53.emf]Horizontal axis
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	b.
	[image: image54.emf]Horizontal axis
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	d.
	[image: image55.emf]Horizontal axis
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____
28.
Triangle MOL is a transformation image of Triangle PON. Describe the transformation.

[image: image56.emf]K

S

P

N

M

Q

L

O

R


	a.
	Reflection in the line SN
	c.
	90 clockwise rotation about O

	b.
	Reflection in the line RM
	d.
	90 counterclockwise rotation about O


____
29.
What transformation of the regular hexagon will produce this tessellation?

[image: image57.png]



	a.
	Translation
	b.
	Reflection
	c.
	Rotation
	d.
	All of these


____
30.
Shape Q is the image of Shape P after a combination of 2 transformations.

[image: image58.emf]P

Q


Which combination of transformations will transform Shape P to Shape Q?

i)
Reflection and rotation

ii)
Translation and rotation

iii)
Translation and reflection

iv)
Reflection and reflection

	a.
	i
	b.
	ii
	c.
	iii
	d.
	iv


____
31.
What shapes in this diagram can be obtained by a reflection of Shape X?

[image: image59.emf]X R

S W

Q P

T V


	a.
	R and S
	c.
	R, S, and W

	b.
	P and W
	d.
	R, V, and T


Short Answer

32.
The hypotenuse of a right triangle is 13 cm.

The length of one of the legs is 7 cm.

Find the length of the other leg.

33.
The diagonal of a TV screen is 71 cm. The screen is 63 cm wide. 

What is the height of the screen? Give your answer to 1 decimal place.

34.
A boat sails due south from a port at a steady speed of 9 km/h. 

The wind blows the boat due west at a speed of 3 km/h. 

How far is the boat from the port after 1 h? 

Give your answer to 1 decimal place.

35.
A rectangular sports field measures 100 m by 75 m. 

How far will Wendy run if she runs diagonally across the field? 

Give your answer to the nearest metre.

36.
Write (13) + (13) + (13) + (13) + (13) as a product, then evaluate.

37.
Which resulting integer is greater? 

[image: image60.png](+180) = (=5) x (+6)



 or [image: image61.png](+180) x (=5) + (+6)



?

38.
Write the next 3 terms in this pattern. Then write a pattern rule.

+4096, –1024, +256, ...

39.
Multiply. [image: image62.png]


  [image: image63.png]




40.
Multiply [image: image64.emf]3

2

3

  [image: image65.emf]3

1

2

. Write the product as an improper fraction and a mixed number.

41.
Draw three different nets of a cube.

42.
A regular octagon is a polygon with 8 equal sides and 8 equal angles. 

Describe the shapes you would use to construct a net of each object.

a)
an octagonal prism 

b)
an octagonal pyramid

43.
Find the volume of this square prism.

[image: image66.emf]19 cm

3 cm

3 cm



44.
A large slab of chocolate measures 32 cm by 72 cm by 3 cm.

a)
What is the volume of chocolate slab?

b)
The chocolate slab is shared equally among 36 students. 


How much chocolate does each student get?

45.
The length of one edge of a cube is 5 cm. 

a)
Find the volume of the cube.

b)
Find the new volume if the edge length is multiplied by 2.

c)
What is the ratio of the new volume to the volume in part a?

46.
A white square represents +1, a black square represents –1, and a black rectangle represents –x.

Find the value of x.

[image: image67.emf]

47.
Solve this equation: [image: image68.png]




48.
Solve this equation: [image: image69.png]11=-4(s+2)





49.
Solve this equation: [image: image70.png]




50.
Solve this equation: [image: image71.png]4(2x-3) = 14





51.
This circle graph shows the favourite type of movies of a group of students.

[image: image72.emf]Action

35%

Musical
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Favourite Type of Movies


a)
List 3 things you know from the graph.

b)
List 1 thing you cannot tell from the graph.

52.
The graph shows the winning times of boys and girls for the inter-school 100-m race for 5 years.

[image: image73.emf]Boys

Girls
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List 3 things you know from the graph.

53.
At a pizza parlor, choices for pizza topping are Garlic, Onion, and Sausage, and choices for size are Mini and Giant. Draw a tree diagram that shows all possible one-topping pizzas.

54.
Two regular 6-sided dice, each labelled 1 to 6, are rolled.

What is the probability of rolling 2 numbers that are the same?

55.
A bag contains 5 red marbles, 3 blue marbles, and 4 yellow marbles. 

A students removes 1 marble without looking, records the colour, then returns the marble to the bag.

The process is repeated. What is the probability of each outcome?

a)
2 red marbles

b)
not a red marble, then not a yellow marble

56.
Use this diagram to identify each transformation.

[image: image74.emf]P

R

Q

S

V

T


a)
Triangle R is the image of Triangle V.

b)
Triangle R is the image of Triangle P.
Problem

57.
The numbers 2, 3, 5, 7, 11, and 13 are written on separate cards. 

Which pairs of numbers give a sum that is a perfect square? 

Find all possible solutions.

58.
A square gymnasium floor has area 169 m2.

Find the perimeter of the gymnasium floor.

59.
a)
List the factors of each number in ascending order.


i)
24


ii)
20


iii)
25


iv)
50

b)
Which number in part a is a square number? How can you tell?

60.
The length of the hypotenuse of a right triangle is [image: image75.png]


 cm. 

Give 3 possible lengths of the legs of the triangle.

61.
The 2 diagonals of rhombus PQRS measure 10 cm and 14 cm. The diagonals intersect at T. 

Find the side length of the rhombus. Justify your answer.

[image: image76.emf]P

Q

R

S

T



62.
Find pairs of integers in this box that have a positive product.

[image: image77.emf]+7

–13

+16

–8

+20

–2



63.
Find the product [image: image78.png](+5) % (=6) + (+5) x (=6) + (+5) x (=6)



. Show your work.

64.
Explain how you could predict the sign of the product [image: image79.png](=B +DEF+TI-4)



 without actually multiplying.

65.
Use three (3)s and any operations or brackets. Write an expression with each value.

a)
0

b)
4

c)
+3

d)
1

66.
In a darts game, Jamie and Corinne each threw 10 darts.

Jamie had three (+6) scores, four (+7) scores, and three (8) scores. 

Corinne had five (+6) scores, two (+7) scores, and three (8) scores.

a)
What were the final scores for Jamie and Corinne? Show your work.

b)
If the winner was the one with the greater score, who won?

67.
Multiply [image: image80.emf]4

4

5

  [image: image81.emf]6

1

4

 [image: image82.png]20



. Show your work.

68.
This object is made from 4 cubes. Sketch a net for the object.

[image: image83.emf]

69.
A right rectangular prism has these faces: 

2 faces of area 55 cm2
2 faces of area 66 cm2
2 faces of area 30 cm2
Find the dimensions of the prism.

70.
Find the surface area of this trapezoidal prism. Show your work.

[image: image84.emf]12 cm

12 cm

13 cm

5 cm

16 cm



71.
A right rectangular prism has a volume of 28 cm3. 

What are the possible whole number dimensions of the prism in centimetres?

72.
This diagram shows the front and top views of a triangular prism.

[image: image85.emf]Top view

3 cm

3 cm

4 cm

3 cm

Front view


a)
What is the volume of the prism?

b)
Two of the prisms are glued together to form a square prism. 


What is the volume of the square prism?

Show your work.

73.
This diagram shows a net of a triangular prism. Find the volume of the prism. 

Show your work.

[image: image86.emf]5 cm

5 cm

8 cm
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74.
Use this balance-scales model to solve for x. Show your work.

[image: image87.emf]x x 2 x 3 4



75.
Marianne chose an integer. She subtracted 7, then multiplied the difference by –5. 

The product was 60. What integer did Marianne choose?

a)
Write an equation you can use to solve the problem.

b)
Solve the equation. Show your work.

76.
This object is made using 7 linking cubes.

[image: image88.emf]Front

Right


a)
How many cubes can you add without changing the front and top views?

b)
How many cubes can you add without changing the side and top views?

c)
How  many cubes can you add without changing the front and side views?

Grade 8 Review All Outcomes

Answer Section
MULTIPLE CHOICE

1.
ANS:
A
PTS:
1
DIF:
Easy
REF:
1.4 Estimating Square Roots

LOC:
8.N2
TOP:
Number
KEY:
Conceptual Understanding

2.
ANS:
C
PTS:
1
DIF:
Moderate
REF:
1.4 Estimating Square Roots

LOC:
8.N2
TOP:
Number
KEY:
Conceptual Understanding

3.
ANS:
C
PTS:
1
DIF:
Easy


REF:
2.2 Developing Rules to Multiply Integers

LOC:
8.N7

TOP:
Number
KEY:
Conceptual Understanding

4.
ANS:
C
PTS:
1
DIF:
Easy


REF:
2.4 Developing Rules to Divide Integers

LOC:
8.N7

TOP:
Number
KEY:
Conceptual Understanding

5.
ANS:
D
PTS:
1
DIF:
Easy


REF:
2.4 Developing Rules to Divide Integers

LOC:
8.N7

TOP:
Number
KEY:
Conceptual Understanding

6.
ANS:
C
PTS:
1
DIF:
Easy


REF:
3.1 Using Models to Multiply Fractions and Whole Numbers


LOC:
8.N6
TOP:
Number
KEY:
Conceptual Understanding

7.
ANS:
D
PTS:
1
DIF:
Moderate


REF:
3.2 Using Models to Multiply Fractions

LOC:
8.N6

TOP:
Number
KEY:
Conceptual Understanding

8.
ANS:
D
PTS:
1
DIF:
Moderate
REF:
3.7 Dividing Mixed Numbers

LOC:
8.N6
TOP:
Number 
KEY:
Conceptual Understanding

9.
ANS:
C
PTS:
1
DIF:
Easy
REF:
4.1 Exploring Nets

LOC:
8.SS2
TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

10.
ANS:
D
PTS:
1
DIF:
Moderate
REF:
4.1 Exploring Nets

LOC:
8.SS2
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

11.
ANS:
D
PTS:
1
DIF:
Moderate


REF:
4.3 Surface Area of a Right Rectangular Prism
LOC:
8.SS3

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

12.
ANS:
B
PTS:
1
DIF:
Easy


REF:
4.4 Surface Area of a Right Triangular Prism
LOC:
8.SS3

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

13.
ANS:
B
PTS:
1
DIF:
Moderate


REF:
4.5 Volume of a Right Rectangular Prism

LOC:
8.SS4

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

14.
ANS:
A
PTS:
1
DIF:
Easy


REF:
4.6 Volume of a Right Triangular Prism

LOC:
8.SS4

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

15.
ANS:
C
PTS:
1
DIF:
Easy


REF:
4.6 Volume of a Right Triangular Prism

LOC:
8.SS4

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

16.
ANS:
B
PTS:
1
DIF:
Moderate


REF:
4.6 Volume of a Right Triangular Prism

LOC:
8.SS4

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

17.
ANS:
C
PTS:
1
DIF:
Moderate


REF:
4.7 Surface Area of a Right Cylinder


LOC:
8.SS3

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

18.
ANS:
D
PTS:
1
DIF:
Moderate


REF:
4.7 Surface Area of a Right Cylinder


LOC:
8.SS3

TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

19.
ANS:
B
PTS:
1
DIF:
Moderate
REF:
5.2 Calculating Percents

LOC:
8.N3
TOP:
Number 
KEY:
Conceptual Understanding

20.
ANS:
A
PTS:
1
DIF:
Moderate
REF:
5.2 Calculating Percents

LOC:
8.N3
TOP:
Number 
KEY:
Conceptual Understanding

21.
ANS:
B
PTS:
1
DIF:
Moderate


REF:
6.1 Solving Equations Using Models


LOC:
8.PR2

TOP:
Patterns and Relations (Variables and Equations)
KEY:
Conceptual Understanding

22.
ANS:
B
PTS:
1
DIF:
Moderate


REF:
6.5 Solving Equations Involving the Distributive Property



LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Conceptual Understanding

23.
ANS:
B
PTS:
1
DIF:
Difficult


REF:
6.5 Solving Equations Involving the Distributive Property



LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Conceptual Understanding

24.
ANS:
A
PTS:
1
DIF:
Easy
REF:
7.1 Choosing an Appropriate Graph

LOC:
8.SP1
TOP:
Statistics and Probability (Data Analysis)


KEY:
Conceptual Understanding

25.
ANS:
C
PTS:
1
DIF:
Easy
REF:
7.1 Choosing an Appropriate Graph

LOC:
8.SP1
TOP:
Statistics and Probability (Data Analysis)


KEY:
Conceptual Understanding

26.
ANS:
A
PTS:
1
DIF:
Moderate


REF:
7.3 Probability of Independent Events

LOC:
8.SP2

TOP:
Statistics and Probability (Chance and Uncertainty)
KEY:
Conceptual Understanding

27.
ANS:
C
PTS:
1
DIF:
Moderate
REF:
8.4 Identifying Transformations

LOC:
8.SS6
TOP:
Shape and Space (Transformations)



KEY:
Conceptual Understanding | Communication

28.
ANS:
C
PTS:
1
DIF:
Moderate
REF:
8.4 Identifying Transformations

LOC:
8.SS6
TOP:
Shape and Space (Transformations)



KEY:
Conceptual Understanding | Communication

29.
ANS:
D
PTS:
1
DIF:
Moderate


REF:
8.6 Identifying Transformations in Tessellations
LOC:
8.SS6

TOP:
Shape and Space (Transformations)


KEY:
Conceptual Understanding

30.
ANS:
C
PTS:
1
DIF:
Moderate


REF:
8.6 Identifying Transformations in Tessellations
LOC:
8.SS6

TOP:
Shape and Space (Transformations)




KEY:
Conceptual Understanding | Problem-solving Skills

31.
ANS:
A
PTS:
1
DIF:
Difficult


REF:
8.6 Identifying Transformations in Tessellations
LOC:
8.SS6

TOP:
Shape and Space (Transformations)




KEY:
Conceptual Understanding | Problem-solving Skills
SHORT ANSWER

32.
ANS:


[image: image89.png]120



 cm
PTS:
1
DIF:
Moderate
REF:
1.5 The Pythagorean Theorem

LOC:
8.N1 | 8.SS1
TOP:
Number | Shape and Space (Measurement)


KEY:
Conceptual Understanding

33.
ANS:


32.7 cm
PTS:
1
DIF:
Moderate
REF:
1.7 Applying the Pythagorean Theorem

LOC:
8.SS1
TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

34.
ANS:


9.5 km
PTS:
1
DIF:
Moderate
REF:
1.7 Applying the Pythagorean Theorem

LOC:
8.SS1
TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

35.
ANS:


125 m
PTS:
1
DIF:
Moderate
REF:
1.7 Applying the Pythagorean Theorem

LOC:
8.SS1
TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

36.
ANS:


(+5)(13) = 65
PTS:
1
DIF:
Moderate
REF:
2.2 Developing Rules to Multiply Integers

LOC:
8.N7
TOP:
Number
KEY:
Conceptual Understanding

37.
ANS:


[image: image90.png](+180) = (=5) x (+6) = 216




[image: image91.png](+180) x (=5) = (+6) = —150




[image: image92.png](+180) = (=5) x (+6)



 < [image: image93.png](+180) x (=5) + (+6)




PTS:
1
DIF:
Moderate
REF:
2.4 Developing Rules to Divide Integers

LOC:
8.N7
TOP:
Number
KEY:
Procedural Knowledge | Problem-solving Skills

38.
ANS:


The next 3 terms are: –64, +16, –4

Start at +4096. Divide by 4 each time.
PTS:
1
DIF:
Moderate
REF:
2.4 Developing Rules to Divide Integers

LOC:
8.N7
TOP:
Number
KEY:
Conceptual Understanding | Problem-solving Skills

39.
ANS:


[image: image94.png]



PTS:
1
DIF:
Moderate
REF:
3.2 Using Models to Multiply Fractions

LOC:
8.N6
TOP:
Number
KEY:
Conceptual Understanding

40.
ANS:


[image: image95.png]


, [image: image96.emf]12

5

6


PTS:
1
DIF:
Moderate
REF:
3.4 Multiplying Mixed Numbers

LOC:
8.N6
TOP:
Number
KEY:
Conceptual Understanding

41.
ANS:


Answers will vary. Sample:

[image: image97.emf]
PTS:
1
DIF:
Moderate
REF:
4.1 Exploring Nets


LOC:
8.SS2
TOP:
Shape and Space (Measurement)


KEY:
Conceptual Understanding | Communication

42.
ANS:


a)
Two octagons and 8 rectangles

b)
One octagon and 8 triangles
PTS:
1
DIF:
Moderate
REF:
4.1 Exploring Nets


LOC:
8.SS2
TOP:
Shape and Space (Measurement)
KEY:
Communication

43.
ANS:


The volume is 171 cm3.
PTS:
1
DIF:
Easy
REF:
4.5 Volume of a Right Rectangular Prism

LOC:
8.SS4
TOP:
Shape and Space (Measurement)
KEY:
Conceptual Understanding

44.
ANS:


a)
The volume is 6912 cm3.

b)
Each student gets 192 cm3 of chocolate.
PTS:
1
DIF:
Moderate
REF:
4.5 Volume of a Right Rectangular Prism

LOC:
8.SS4
TOP:
Shape and Space (Measurement)


KEY:
Conceptual Understanding | Problem-solving Skills

45.
ANS:


a)
The volume of the cube is 125 cm3.

b)
The new volume is 1000 cm3.  

c)
The ratio is 1000:125, or 8:1.
PTS:
1
DIF:
Difficult
REF:
4.5 Volume of a Right Rectangular Prism

LOC:
8.SS4
TOP:
Shape and Space (Measurement)


KEY:
Conceptual Understanding | Problem-solving Skills

46.
ANS:


x = 2
PTS:
1
DIF:
Moderate
REF:
6.1 Solving Equations Using Models

LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Conceptual Understanding

47.
ANS:


c = [image: image98.emf]2

1

5


PTS:
1
DIF:
Moderate
REF:
6.5 Solving Equations Involving the Distributive Property

LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Conceptual Understanding

48.
ANS:


s = [image: image99.emf]4

3

4


PTS:
1
DIF:
Moderate
REF:
6.5 Solving Equations Involving the Distributive Property

LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Conceptual Understanding

49.
ANS:


t = 5
PTS:
1
DIF:
Moderate
REF:
6.5 Solving Equations Involving the Distributive Property

LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Conceptual Understanding

50.
ANS:


x = [image: image100.emf]3

1

4


PTS:
1
DIF:
Difficult
REF:
6.5 Solving Equations Involving the Distributive Property

LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Conceptual Understanding

51.
ANS:


Answers will vary. Sample:

a)
Action movies are the most popular.


Science fiction movies are the least popular.


Musical movies and Comedy are preferred by half of the students.

b)
You cannot tell the number of students surveyed.
PTS:
1
DIF:
Easy
REF:
7.1 Choosing an Appropriate Graph

LOC:
8.SP1
TOP:
Statistics and Probability (Data Analysis)


KEY:
Communication


52.
ANS:


Answers may vary. Sample:

Boys are in general faster than girls. 

The graph suggests a large time difference between boys’ times and girls’ times, but the actual difference is less than 1 s. 

The patterns of winning times for boys and for girls over the 5 years are roughly the same.
PTS:
1
DIF:
Moderate
REF:
7.1 Choosing an Appropriate Graph

LOC:
8.SP1
TOP:
Statistics and Probability (Data Analysis)


KEY:
Communication


53.
ANS:


[image: image101.emf]Mini

Giant

Garlic

Onion

Sausage

Garlic

Onion

Sausage


PTS:
1
DIF:
Moderate
REF:
7.3 Probability of Independent Events

LOC:
8.SP2
TOP:
Statistics and Probability (Chance and Uncertainty)

KEY:
Procedural Knowledge | Communication


54.
ANS:


P(2 numbers the same) = [image: image102.png]



PTS:
1
DIF:
Moderate
REF:
7.3 Probability of Independent Events

LOC:
8.SP2
TOP:
Statistics and Probability (Chance and Uncertainty)

KEY:
Conceptual Understanding

55.
ANS:


a)
P(red and red) = [image: image103.emf]25

144


b)
P(not red and not yellow) = [image: image104.emf]7

18


PTS:
1
DIF:
Moderate
REF:
7.3 Probability of Independent Events

LOC:
8.SP2
TOP:
Statistics and Probability (Chance and Uncertainty)

KEY:
Conceptual Understanding

56.
ANS:


a)
90 counterclockwise rotation about the vertex the triangles share.

b)
Translation 2 units right and 2 units down.
PTS:
1
DIF:
Moderate
REF:
8.4 Identifying Transformations

LOC:
8.SS6
TOP:
Shape and Space (Transformations)



KEY:
Conceptual Understanding | Communication
PROBLEM

57.
ANS:


2 + 7 = 9

3 + 13 = 16

5 + 11 = 16
PTS:
1
DIF:
Moderate
REF:
1.1 Square Numbers and Area Models

LOC:
8.N1
TOP:
Number
KEY:
Problem-solving Skills

58.
ANS:


Find the side length of the gymnasium floor:

Find a number which, when multiplied by itself, gives 169.

13  13 = 169

So, the gymnasium floor has side length 13 m.

Perimeter is the distance around the gymnasium floor.

So, P = 13 m + 13 m + 13 m + 13 m


= 52 m

The perimeter of the gymnasium floor is 52 m.
PTS:
1
DIF:
Difficult
REF:
1.1 Square Numbers and Area Models

LOC:
8.N1
TOP:
Number


KEY:
Procedural Knowledge | Communication | Problem-solving Skills


59.
ANS:


a)
i)
24: 1, 2, 3, 4, 6, 8, 12, 24


ii)
20: 1, 2, 4, 5, 10, 20


iii)
25: 1, 5, 25


iv)
50: 1, 2, 5, 10, 25, 50

b)
25 is a square number because it has an odd number of factors.
PTS:
1
DIF:
Difficult
REF:
1.2 Squares and Square Roots

LOC:
8.N1
TOP:
Number
KEY:
Communication | Problem-solving Skills

60.
ANS:


Sample answer:

Find 3 pairs of numbers whose sum is 10: 1 and 9, 2 and 8, 3 and 7

So, three possible lengths of the legs are: 1 and 3, [image: image105.png]


 and [image: image106.png]


, [image: image107.png]


 and [image: image108.png]



PTS:
1
DIF:
Moderate
REF:
1.5 The Pythagorean Theorem

LOC:
8.N1 | 8.SS1
TOP:
Number | Shape and Space (Measurement)


KEY:
Problem-solving Skills

61.
ANS:


Explanations may vary. Sample:

A rhombus has all sides equal and its diagonals are perpendicular bisectors of each other.

So, PTQ is right angled at T with legs 5 cm and 7 cm.

[image: image109.png]and QT =7




[image: image110.png]PQ? = PT? + QT?
=547
-

PQ= T

2386




The side length of rhombus PQRS is about 8.6 cm.
PTS:
1
DIF:
Difficult
REF:
1.5 The Pythagorean Theorem

LOC:
8.N1 | 8.SS1
TOP:
Number | Shape and Space (Measurement)


KEY:
Communication | Problem-solving Skills


62.
ANS:


+16 and +20, +16 and +7, +20 and +7, –13 and –8, –13 and –2,  –8 and –2
PTS:
1
DIF:
Moderate
REF:
2.1 Using Models to Multiply Integers

LOC:
8.N7
TOP:
Number
KEY:
Conceptual Understanding | Problem-solving Skills

63.
ANS:


[image: image111.png](45) x (=6) + (+5) x (=6) + (+5) x (-6) = (=30) + (=30) + (=30)
= () x(-30)
=-90




PTS:
1
DIF:
Difficult
REF:
2.1 Using Models to Multiply Integers

LOC:
8.N7
TOP:
Number
KEY:
Procedural Knowledge | Communication

64.
ANS:


The sign of the product [image: image112.png](=B +DEF+TI-4)



 is positive.

Explanations may vary. Sample:

There are 2 negative factors in the product. Their product is positive.

The product of any number of positive integers is always positive.

So, the sign of the product [image: image113.png](=B +DEF+TI-4)



 is positive.
PTS:
1
DIF:
Difficult
REF:
2.2 Developing Rules to Multiply Integers

LOC:
8.N7
TOP:
Number
KEY:
Communication | Problem-solving Skills

65.
ANS:


Answers will vary. Sample:

a)
[image: image114.png]



b)
[image: image115.png]



c)
[image: image116.png]



d)
[image: image117.png]JENXED - (-3)




PTS:
1
DIF:
Difficult
REF:
2.5 Order of Operations with Integers

LOC:
8.N7
TOP:
Number
KEY:
Communication | Problem-solving Skills

66.
ANS:


a)
Jamie: [image: image118.png]Ix(+6)+4x (+7)+ 3x (-8)
- (+18) + (+28)+ (-24)
2






Corinne: [image: image119.png]5x(+6)+ 2x (+7)+ 3x (-8)
- (+30) + (+14)-+ (-24)
0





b)
Since 22 > 20, Jamie won.
PTS:
1
DIF:
Difficult
REF:
2.5 Order of Operations with Integers

LOC:
8.N7
TOP:
Number
KEY:
Communication | Problem-solving Skills

67.
ANS:


[image: image120.emf]4

4

5

  [image: image121.emf]6

1

4

 [image: image122.png]20



 [image: image123.png]



Divide the numerator and denominator by common factors.

[image: image124.png]24x25x7
Sxdx20




 [image: image125.emf]10

1

2


PTS:
1
DIF:
Difficult
REF:
3.4 Multiplying Mixed Numbers

LOC:
8.N6
TOP:
Number 
KEY:
Communication


68.
ANS:


Diagrams will vary. Sample:

[image: image126.emf]
PTS:
1
DIF:
Difficult
REF:
4.1 Exploring Nets


LOC:
8.SS2
TOP:
Shape and Space (Measurement)


KEY:
Communication | Problem-solving Skills


69.
ANS:


The rectangular prism measures 11 cm by 5 cm by 6 cm.
PTS:
1
DIF:
Difficult
REF:
4.3 Surface Area of a Right Rectangular Prism

LOC:
8.SS3
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

70.
ANS:


Methods may vary. Sample:

Area of each base [image: image127.png]1
) [EXIZ:mXSEm]+(IZ:mXIZ:m)

- 30 cm? + 144 em?
174 cm?





Area of front face [image: image128.png]16cmx 12 cm= 192 cm?





Area of back face [image: image129.png]



Area of top face [image: image130.png]



Area of bottom face [image: image131.png]16cmx 12 cm= 192 cm?





Surface area of prism:

[image: image132.png]2x 174 em? +192cm2 + 272 cm? + 208 cm? + 192 cm? = 1212 cm?




PTS:
1
DIF:
Difficult
REF:
4.4 Surface Area of a Right Triangular Prism

LOC:
8.SS3
TOP:
Shape and Space (Measurement)


KEY:
Communication | Problem-solving Skills


71.
ANS:


1 cm by 1 cm by 28 cm, 1 cm by 2 cm by 14 cm, 1 cm by 4 cm by 7 cm, 2 cm by 2 cm by 7 cm
PTS:
1
DIF:
Moderate
REF:
4.5 Volume of a Right Rectangular Prism

LOC:
8.SS4
TOP:
Shape and Space (Measurement)
KEY:
Problem-solving Skills

72.
ANS:


a)
Volume of prism: [image: image133.png]




The volume of the triangular prism is 18 cm3.

b)
Methods may vary. Sample:


Area of each square face [image: image134.png]3emx3cm = 9cm?






Volume of square prism [image: image135.png]‘base area x length
=9x4
36






The volume of the square prism is 36 cm3.
PTS:
1
DIF:
Difficult
REF:
4.6 Volume of a Right Triangular Prism

LOC:
8.SS4
TOP:
Shape and Space (Measurement)


KEY:
Communication | Problem-solving Skills


73.
ANS:


Volume [image: image136.png]



The volume of the prism is 100 cm3.
PTS:
1
DIF:
Difficult
REF:
4.6 Volume of a Right Triangular Prism

LOC:
8.SS4
TOP:
Shape and Space (Measurement)


KEY:
Communication | Problem-solving Skills


74.
ANS:


Answers may vary. Sample:

Write the equation represented by the balance-scales model.

[image: image137.png]X+x+2=x+3+4





Remove x from each side.

[image: image138.png]



[image: image139.png]



Remove 2 from each side.

[image: image140.png]



PTS:
1
DIF:
Difficult
REF:
6.1 Solving Equations Using Models

LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Procedural Knowledge | Communication


75.
ANS:


a)
Let x represent the integer.


[image: image141.png]-5(x—"T) =60




b)
[image: image142.png]=5(x-T) =60
-5(2) - (-5)(7) = 60
—5x+35=60

~5x+35- 35 = 60— 35
~5x=125
5k 25





PTS:
1
DIF:
Difficult
REF:
6.5 Solving Equations Involving the Distributive Property

LOC:
8.PR2
TOP:
Patterns and Relations (Variables and Equations)

KEY:
Communication | Problem-solving Skills


76.
ANS:


a)
One cube

b)
Two cubes

c)
None
PTS:
1
DIF:
Difficult
REF:
8.1 Sketching Views of Objects

LOC:
8.SS5
TOP:
Shape and Space (3-D Objects and 2-D Shapes)

KEY:
Communication | Problem-solving Skills


